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Exercise 1

Calculate the following subtractions :

971 - 60 =

692 - 80 =

294 - 60 =

739 - 10 =

778 - 70 =

588 - 30 =

698 - 20 =

462 - 60 =

190 - 90 =

487 - 50 =

553 - 40 =

985 - 30 =

Exercise 2

Calculate the following subtractions :

565 - 50 =

378 - 70 =

266 - 20 =

926 - 10 =

371 - 10 =

491 - 80 =

884 - 30 =

468 - 30 =

160 - 60 =

653 - 30 =

260 - 50 =

194 - 10 =

Exercise 3

Calculate the following subtractions :

671 - 30 =

888 - 50 =

576 - 30 =

362 - 60 =

687 - 30 =

184 - 60 =

978 - 50 =

839 - 20 =

853 - 30 =

712 - 10 =

580 - 80 =

489 - 20 =

Exercise 4

Calculate the following subtractions :

852 - 40 =

281 - 60 =

365 - 20 =

749 - 20 =

337 - 10 =

479 - 10 =

471 - 60 =

129 - 20 =

387 - 70 =

492 - 50 =

532 - 10 =

983 - 50 =
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